
signal region
t̃1 → bχ̃±1 → bWχ̃0

1 t̃1 → bχ̃±1 → bν ˜̀ → bν`χ̃0
1

mt̃1
= 750 GeV mt̃1

= 1000 GeV
x = 0.05 x = 0.50 x = 0.95

0 0.15± 0.07 0.07± 0.01 0.09± 0.01 0.12± 0.02
1 0.07± 0.05 0.25± 0.02 0.37± 0.03 0.33± 0.03
2 0.13± 0.07 0.10± 0.01 0.15± 0.02 0.10± 0.01
3 0.09± 0.05 0.26± 0.02 0.43± 0.03 0.27± 0.02
4 0.00± 0.00 0.02± 0.01 0.02± 0.01 0.03± 0.01
5 1.00± 0.20 1.04± 0.05 1.09± 0.05 0.73± 0.04
6 0.00± 0.00 0.08± 0.01 0.11± 0.02 0.15± 0.02
7 0.21± 0.09 0.43± 0.03 0.69± 0.04 0.63± 0.04
8 0.16± 0.08 0.12± 0.02 0.25± 0.02 0.23± 0.02
9 0.23± 0.11 0.55± 0.03 0.69± 0.04 0.75± 0.04

10 0.04± 0.04 0.02± 0.01 0.05± 0.01 0.05± 0.01
11 1.52± 0.25 2.06± 0.07 3.08± 0.08 2.36± 0.07
12 0.45± 0.14 1.80± 0.06 2.78± 0.08 8.13± 0.13


